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uH U He 1
CLASS 3
ENGLISH
0. 1 -5 Read the following passage and answer the questions that follow:

My name is Haley. Today, | will tell you about my daily routine. | get up early in the marning.
Then, | get ready for school. | go to school by school bus. In the afternoon after coming back
home, | first change my clothes and wash my hands. | then eat my lunch. | take some rest. In
the evening | go out to play.

0.1, Every morning, Haley gets ready for .........

A) office
B) party
C) Play
D} school

Q. 2. How does Haley go to school?

A) by school bus
B) with her father
C) with her mother
D) by car

Q. 3. What is the first thing Haley does after coming back from school?

A) She sleeps

B} She goes to play

C) She changes her clothes
D} none of these.

Q. 4. When does Haley play?

A at night

B) in the evening
C) early morning
D} in the afternoon

14



Q. 5, The opposite word from the paragraph for 'in" is

Al go

B) out
C) first
D) get

Loak at the picture and answer the following questions:

Q. 6. Which fruit is marked as the number 17

A) grapes
B) banana
C) mango
D) apple

Q. 7. Which fruit is at number 57

A) orange
B) grapes
C) apple
D) banana

Q. 8. Banana is at which number?

15



A) Two

B) One

C) Three

D} Four

Q. 9, How many fruits are numbered in the picture?

A) Four
B) Two
C) Five
D) One

Q. 10. Which fruit is not in the picture?

A) mango
B) Banana
C) Apple

D) grapes

Q. 11-15 Read the following passage and answer the guestions that follow:

There are seven days in a week, The first day is Sunday. Children like Sunday. They get more time
to play on Sunday. Monday is the second day of the week. Tuesday is the third day of the week.
Saturday is tha last day of the weelk,

(. 11. How many days are there in a week?

A) Two
B) Seven
C} Three
D} Five

Q.12. __  isthe first day of the week

A) Saturday
B) Monday
C) Sunday
D) Tuesday

Q. 13. Which is the third day of the week?

A) Tuesday
B) Monday
16



C) Sunday
D) Saturday

17



Q. 14. Children like which day?

A) Monday
B) Tuesday

C) Saturday
D) Sunday

Q. 15. What children like to do on Sunday?

A) Play

B) Sit

C) Sing

D} dance

Q. 16-20. Read the poem carefully and answer accordingly:

Sea songs

| found a shell, a curly one,
[ying in the sand,
| picked it up and took it home,
Cold inside my hand.
Mummy looked at it and then
She held it to my ear
And from the shell there came a song
Soft and sweet and clear,
| was surprised - | listened hard ,
But it was really true,
| wish you'd find a nice big shell
And hear it singing too!

Q. 16. How many stanzas does the poem have?

A) Four
B) Three
C) Two
D) One

Q. 17. What did the boy find on the sand?

Al shell
B) hand
C) song
D) ear
18



Q. 18. Find the rhyming word for ‘hand’ in the poem.

A) Sea
B) Hard
C) Ear
D) Sand

0.15. Where did the boy find the shell 7

A) on the sand
B) in the sea

C) in his pocket
D) on the cloud

. 20. How did the boy find the song?

A soft, sweet, clear
B) loud, rude, blocked
C) rough and vague
D) none of the above

Q. 21-25. Read the poem carefully and answer accordingly:

| like roses ,most roses are red
some are white
SOMme are yellow
Are there blue roses?
| have not seen any blue roses|
Q. 21. The poem is about which flower #

A) Lotus

B lily
C) rose
D) Sunflower

Q. 22. Most roses are of which colour ?

A) white
B) red

C) yellow
D) blue
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Q. 23. Which colour of rose the poet has not seen ?

A) Red

B) blue
C) yellow
D} white

Q. 24. Which colour is not mentioned in the poem?

A) yellow
B) black
C) white
D) red

. 25. How many times word roses is used in the poem?

A) Four
B) Five
C) Two
D) One

Q. 26-30. Read the poem carefully and answer accordingly:

Zoo manners

Be careful what
you say or do
when you visit the animals
at the zo0
don't make fun
of the camel's hump-
he is very proud
of his noble bump

Q. 26. Which place is mentioned in the poem?

Al zoo

B) temple
C) school

D) house

21



0.27. Camel is proud of _

A tail
B) eves
C) bump
D) nose

Q. 28. Poet wants us not to ___

A) be happy
B) make fun
C) make boat
D} be proud

Q. 29. Which word from the poem rhyme with the word "run’

A) fun
B) gun
C) ton
D} spun

Q. 30. The poet wants us tobhe____

A) careless
B) sad

C) careful
D) happy
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CLASS 3 English

ANSWER KEY (QUESTION SET-1)

1 D 11 B 21
2 A 12 C 22
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THUA HE |
CLASS 3
ENGLISH
0 1-5 Read the following passage given below and answer the following questions:

Plants need sunlight and water to make thelr own food. You can do an experiment to test if this is true.
Place 2 bucket over a patch of green grass. After a few days, lift the bucket. You will see that the grass is
not as green anymore. If you leave the bucket in place for a week, the grass will become very dull. This
happens because the grass cannot make food in the dark. Remove the bucket, In a few days, the grass
will start turning green again.

Q. 1 What does plant need to make food
A} only sunlight

B] only water

C) sunlight and water

D] food

1. 2 What s main point of this passage?
A) Buckets are bad

B) Plants need sunlight

L) grass is dark

D) grass becomes dull

Q. 3 The colour of grass is;

A) black

B] white

) green

D) pink

1.4 The experiment is done to test

A} plants need sunlight and water

B) bucket is heawvy

C) plants move

D] a bucket is filled with water
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1.5 Find opposite of ‘light” from the paragraph

A) green
B) dull

C) dark
D bad

Poem

Read the following poem carefully.

1. &. Rain drive away

A) smell

B) fun

C) sorrow and pain
D) laughter

Q. 7. When it rains the trees looks:

A) green

B) black

C) white

D) blue

1.8. When | get chance | poout and ........

A} dance

B) play

L) run

D sit

. 9. Rain makes the air:

A) fresh
B) sweet
C) green
D) Sorrow

Rain ) Rain, come again,
Dirive away sorrow and pain.
Make the air fresh

Make it full af sweer smell

Bring laughter and joy to all,

When it is raining the trees look xo green.
Thick clowds cover the sun

Evervbody an earth is having fun.
Whenever I get a chance,

[ go out and dance.

And have lots of fun,

In the pouring rain,

Rain O Rain, come again,
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Q. 10. When it rains clouds cover the ...
A) sun

B) moon

C) Earth

D) sky

Q. 11. Which word is not there in the poem.

Al sweet
B) pain
L) rain
D) main

Q. 12-17. Read the following passage and answer the questions that follow:

Long ago elephant and tailor were friends, Every evening the elephant go to a pond to take a dip on the
wiay he would stop at tailor's shop and raise is trunk to greet the tailor. The tailor use to offer the elephant
2 banana. One evening the tailor playfully pricked elephant with a needle. The elephant winced in pain.
The elephant went to the pond it filled muddy water in his trunk and spoiled the newly staged clothes of

the tailor, The tailor was shecked but he soon realised what you give you take the tailor was sorry for his
behaviour.

Q. 12. Find opposite of the word “take” from the passage:

A) give
B] made
C) il

D) teach

Q. 13. Where did the elephant go for a bath?

A) river
B] sea
C) shop
D) city

. 14. Who was elephant’s friend?

A} tailor

B) farmer

L) carpenter
D) doctor
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1. 15. The tailor gave ......... to the elephant.

A} mango
B) banana
C) grapes
D) oranges

Q. 16. What did the elephant fill in its trunk from the pond?

A} muddy water
B) banana
C) oranges
D) needle

0. 17. The lesson we get from the story.

&) try-try till you get success
B) do good have good

) tit for tat

D) might is right

Q 18-24 Read the following passage given below and answer the following questions:

Bees are insects. Bees are special insects because they can fly! They can move through the air
like an airplane! Bees can fiy because they have wings. They use their wings to fly. Bees can fly
fast, Bees can also fly slow. They can fly up and they can fiy down. They nead to fly to get to the
flowers! Bees can have three colours. They can be yellow, red, and orange. All bees are black in
some places. Bees have three main parts. They have a head. They have a body. And, they have
a stinger. The stinger is used to defend against enemies. They also have six legs. They use their
legs to stand and climb. They also use their legs 1o eat and collect polien. Bees live in many
places. They live in Africa, Australia, Asia, Europe, North America,South America. The only
continent that bees do not live on is Antarctical | understand why they don't live in Antarctica. It's
too cold! Most of the time, bees are nice to humans. If you do not bother them, they will not bather

you. Have fun watching the bees this summer!

Q. 18. What are bees ?

A} mammals
B) birds

C) reptiles
D) insects

38



. 18. How many legs do bees have?

A) two
B) four
) six
D) eight

Q. 20. Bees can fly because ......

A} they have legs

B) they have wings

C) they have stings

D) they have different colours

0. 21. how many parts do bees have?

A} three parts
B) six parts

C) two parts
D) five parts

0. 22. What is the string used far?

A) to eat food

B] to defend enamy against enemies
C)both A and B

D) none of the above

Q. 23. Where do bees live?

A} Morth America
B) Asia

C) Antarctica

D) both A and B

0. 24. Which season is mentioned in the paragraph?

Al rainy

B) winter
C) sumimer
D) autumn
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Q. 25-30. Read the following passage given below and answer the following questions:

Diogs are very clever and intelligent animals, Their ability to smell things is many times greater than that
of humans. They can easlly identify the sniffed thing by smelling it again. Dogs are also used to detect
explosives due to their highest smelling ability .Their hearing power is five times more than that of
humans. Dogs are deaf, blind and toothless when they are born . They like to live in groups but some prefer
to live alone. The breed of dog called the Alaskan Malamute has the ability to withstand temperature of -
70 degrees .Dogs have many body colours. Mostly we see white, brown, black coloured dogs.

. 25. Dogs are born ........

A} with no eyes

B] with no teeth

L) with no mind

D) none of the above

0Q.26. Which gquality do dogs have according to the passage?

A) clever

B) intellipent

C) clever and intelligent
D) obedient

Q. 27. The breed Alaskan Malamute can bear temperature up-to ...........

A} -75 degrees
B] -72 degrees
C) -65 degrees
D) -70 degrees

Q. 28. A dog's hearing power is ............

A) Six times more than humans

B] Four times more than humans

C) five times more than humans

D) three times more than humans

Q. 29. Choose the suitable title for the passage:

A) Dog a genius anirmal
B) Colourful dogs

C) Alaskan Malamute

D) Dog-Man's best friend

1. 30. Dogs ability to smell things s ........... greater than that of humans.
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Al many times
B] three times
C) seven times

D) five times
Class 5
answer key
1 c 11 21
2 B 12 22
3 C 13 23
4 A 14 24
5 C 15 25
[ c 16 26
7 A 17 27
B A 18 28
9 A 19 29
10 A 20 30
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Subject- English
Q. 1 -5 Read the following passage and answer the questions that follow:

Neem is a tall evergreen tree with small bright green leaves. It has a straight
trunk. Its bark is hard, rough and scaly. It blossoms in spring with small white
flowers. The tree is never bare as all its leaves do not fall at the same time. It is
found throughout India. The Sanskrit name of neem is “Arishtha” meaning the
reliever of sickness. It is popularly known as the miracle tree. Each part of the
neem tree is used in medicines.

Neem oil called Margosa oil, is extracted from its seeds and is effective in the
treatment of leprosy and skin diseases. Its leaves are used in the treatment of
chickenpox. Neem tea is usually taken to relieve headache and fever. Its flowers
are used to cure intestinal problems. Neem bark and gum also yield valuable
medicines.

People in India use neem twigs to brush their teeth. Dried neem leaves are put in
drawers and cupboards to keep out moths and cockroaches. Neem is widely used
as a fertilizer for sugarcane and vegetables.

Some people consider the neem tree sacred and tie its leaves at the entrance of
their houses to keep evil spirits at bay. Newly born babies are laid upon the neem
leaves for good health and protection from diseases. No doubt, neem is
considered to be a wonder tree by people all over the world.

a. 1 The bark of neem treeis :

A) smooth and green B) rough and scaly
C) soft and scaly D) hard and green

Q. 2 Neem flowers are beneficial in treating:

A) Skin diseases B) Chickenpox
C) Intestinal problems D) Fever
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Q.3 Dried leaves are put in cupboards to:

A) keep out lizards and ants B) keep away insects
C) retain the shine of clothes D) keep them clean

Q.4 Some people tie the leaves of neem at the entrance of their houses :

A) to keep off evil spirits B) to keep away moths
C) to decorate their houses D) to relieve sickness

Q. 5 Neem is called a ‘wonder tree’ because :

A) its twigs are used for brushing teeth B) it is a useful fertilizer
C) it protects newly born babies D) each part of the tree is useful,

Q. 6-10 Read the story given below and answer the questions that follow:

Hema: Hello! | am Hema. Do you know what | enjoy doing the most? | like visiting
historical places with my family and friends. Last year during my summer
vacations, | visited Hyderabad and saw the Charminar and the Golconda Fort. This
yvear | visited Agra and was very happy to see the Taj Mahal. Every time | visit a
new place, | make new friends. Which place do you think | should visit next year?

Ali: My name is Ali. Nice to meet you all! | am very keen on learning new things.
My science teacher always encourages me to read more books. She says asking
questions is the beginning of scientific inguiry. Last week, | read a book called
‘Discovered Questions’ and found it very informative and interesting. Can you tell
me why rain falls in drops? | found the answer in that book.

Rajat: Hi friends! | am Rajat. | am fond of sports and games. | am passionate about
playing football. It is also known as soccer and is played between two teams of
eleven players each. There are goalkeepers, defenders and strikers in the game. |
watch all the football matches. One day | want to play for India like Baichung
Bhutia. | want to become a striker like him.

lohn: Hello everyone! | am lohn. My hobby is to keep the environment ‘green and
clean’ do you know, this rainy season | planted four saplings of trees in my
school? These are Jamun, Neem, Mango and Gulmaohar. My teacher said that we



will put the names of trees next to the saplings. Soma from my class is designing
the placards. Her hobby is drawing and painting
Q.6 What is common to Golconda fort and the Taj Mahal?

A) they are located in Agra B) they have historical value
C) they are the only places to visit D) they are located in Hyderabad

Q.7 What is not true for footbhall?

A) it is also referred to as soccer B)itis played by 11 players
C) it requires two teams to play D) it is a game only for goalkeepers

Q. 8 How will the saplings be identified?

A) the names of the trees will be put near the saplings
B) the teacher will keep track of the saplings

C) the school will have only four trees

D) children will memaorize the names

Q 9 What is Soma good at?

A) planting trees
B) playing Soccer
C) reading books
D) drawing and painting

.10 What is common between Hema's and Ali's hobbies ?

A) they like planting saplings and trees

B) they enjoy playing games like football

C) they like discovering new things and places
D) they like watching matches on television.
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Q. 11-15 Look at the poster given below and answer the questions that follows:
SAFETY MEASURES RELATED TO COVID-19

O OO

Lize hand Wadar a rmmask Dot towch
saritizer your face

Q.11 The main purpose of the poster is:

A) to talk about a boy B) to talk about face
C) to talk about safety measures D) to talk about a maobile

(.12 What do you understand by this statement “safety measures related to
covid-19"

A) work hard B) wash your hands regularly
C) use your mobile daily D) play with your friends

Q.13 Which of the following image is not in the poster

A) use hand sanitizer B) wear a mask
c) don't touch your face D) play regularly

Q.14 A boy told his friend to wear a mask when needed. Which statement is
applicable to the above sentence.

A) to save water B) to use sanitizer
C) to protect ourselves and others D) to save electricity electricity



(.15 This poster is mainly related to which diseaze?

A) covid-19 B) cancer
C) malaria D) typhoid

0Q.16-20 Read the poem and answer accordingly.

Deep in the night

When all is still

A moon beam climbs the window-sill
Over your bed

It softly flies

To see if sleep has closed your eyes.
A pinch of gold

Some fairy sand

It clasped within that moonbeam’s hand
And if by chance

You are not asleep

It comes tip-toe on gentle feet.

To touch your eyes

With golden beams

And take you to the land of dreams.

Q. 16 The poet speaks of the moon light as if it were ...........

A) a dream B) a Ray of light
C) a shadow D) a fairy

Q.17 In the lines, “pinch of gold/ some fairies sand”, what does the poet want to
describe with this expression?

A) a child's dream world

B) the colour of the moonlight
C) the face of the moon

D) the face of an innocent child
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Q.18 Which line describes the soothing effect of the moonlight?

A) a moonbeam climbs the window-sill
B) it comes tip-toe on gentle feet

C) And take you to the land of dreams
D) a pinch of gold

Q. 19 Who is referred to as ‘you’ in the poem?

A) the reader B) the poet himself
C) a mother D) a golden fairy

Q. 20 Choose the appropriate title for the poem.

A} Moonlight B) The dark night
C) It's deep night, all is still D) none of these

0. 21-30 Read the story given below and answer the questions that follow:

Robert Bruce was the King of Scotland. His country was not free. Tt was under the
English. He wanted to free his country. He made many attempts, but all in vain. He
lost heart and fled into a forest. He hid himself in a cave. He was very sad. One day
he caught sight of a spider. It was trying to reach its cobweb. The cobweb was near
the ceiling. It made eight attempts, but failed. In its eighth attempt it had reached
its cobweb but 1t again fell down. The king thought that 1t would not try any more.
But it did not lose heart. It tried once more. This time it got success. The king
learnt a lesson. He decided o try once more. He gathered a large army. He
attacked the enemy. He fought bravely. This time he succeeded. His country was
free again. He was very happy.

(2. 21 Who was the king of Scotland?
A) Robert Bruce B) Spider

C) King Lear D) king Pope
Q. 22 Where did he hide himself ?

A} in the forest B)in the cobweh
C) in a cave ) in a palace



Q. 23 The king was mspired by which insect?

A) Ant B) Spider
C) butterfly D) honey bee

Q. 24 How many times did the spider attempt to climb successfully.

A) Seven B) Eight
C) Two D) S1x

(2. 25 What lesson do you learn from the story?

A) try hard till we get success B) we should hide in a cave
C) we should fight battle D) we should lose hope

Q. 26 Where was the cobweb 7

A) in the battlefield B) near the ceiling
) near the forest D) in the palace

Q. 27 How did the king fight ?

A) bravely B) cowardly
C) smartly D) aimlessly

Q. 28 From the passage find opposite of “failure’

A) hope B) loose
C) success D) hrave

(). 29From the passage find the synonym ot "glad”

A) bravely B) aimlessly
C) happy D) sad

Q. 30 What did the king want?

A) to free his country B) to catch the spider
C) to go o Scotland D) o go o England
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